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Areas between curves and lines 
 

 

Gold 

Given that: 

 2 3

0
,f ( ) 3 f ( )d 22.5x x ax b x x      

and that   f (x) ³ 3  x for 0 £ x < 4, find the area in the region bounded by f ( ), 3 , 3 and 0x y x x x    . 

Silver 

Find the area of the region between the curve: 

 2f ( ) 4 5x x x     

and the line 5y x   between the points where the line intersects the y-axis and x-axis. 

Bronze 

Find the area under the curve:  

 x x x  3f ( ) 2 5
 

and between the lines 1x    and 2x  .  

(It may help to know that xf ( )
 
is positive between 1x    and x  2 .) 

 

  


